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1. Write short notes on the following :
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M Indian Councils Act, 1861. 8
R afwg tffem, 1861. |

(b) Role of Bihar in the Quit India Movement. 8
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(ya/nthal uprising. | | 8
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Mtna Kalam paintina. » | 7
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/M/Art and Architeciure of Mauryan Age. -7
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2. }/éscribe the Champaran Indigo Movement and explain its impacts on the
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Indian freedom struggle.
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(b) How far the British policy was responsible for the emergence of Indian
National Movement ? Explain. 3¢
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3. anmine the ex0a
thee i
xpansion of Western Education in Bihar from mid-nineteen,

century onward.
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(b) Assess the constructive works of Mahatma Gandhi.
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4. Answer the followihé‘ due’stions :
fefefad sl & W Afre
Discuss the direction of unity and cc ahtlon politics of opposition parties after the
defeat of Aam Aadml Party in Delhi Assembly Elections, 2025.
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) Rassia-Uki alnF* war has completed three years. Throwing light on the causes of

nd dISCUSS its effects on the World politics.
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ganized in India from Monday, 1
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V{Maha Kumbh Fair was or
26 February 2025. How was thi

3 January, 2025 to

is fair a symbbl_ of Indian culture, religious faith

and social h

armony ’7 Explain with examples |
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(d) w detailed light on the need and Importance of caste based Census in Bihar.! 7
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(E) Analyze logically what the future of the United States of America will be at national

and international level under the leadership of newly elected President Donald

Trump.
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5. (a) Uttarakhand has became the first state to implement the Uniform Civil Code in

India. Explain the Uniform Civil Code in this regard. Also explain with examples,

what changes will it bring to the Indian society on social, cultural, relj

gious and
-~ legal basis. '
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&\/( ) Discuss the concept of ‘One Nation, One Election’ and its implication on E

the federal Structure of India. What are the potential advantages and

disadvantages of synchronizing elections to the Lok Sabha and State

Assemblies ? Analyze. }
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. (b) Throwing_light on the increasing women participation in indian politics ang
‘ socfiety and the Women’s Reservation Act, 2023 (Narishakti Vandan Act, 2023),
- Analyze the social, economic and political changes taking place in Indian society
due to its implémentaﬁon.' | ' i
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‘ \/’.,/Tlle following table demonstrates the number of candidates appeared, qualified and
- selected in a competitive examination from five States Delhi, Himachal Pradesh

"(H.P.), Uttar Pradesh (U.P.), Punjab and Haryana over the years 1994 to 2000.
Study. the table carefully and answer the questions given below it :

T~ Delhi H.P. “UuP. Punjab Haryana

| Year

ppeared‘ |
Qualified
Selected
Appeared
Qualified
Selected
Appeal;ed
Qualified
Selected
Appeared
Qualified
Selected

A
\ Qualified
\-"\ Setectama
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7800 | 810 | 82 | 7500 | 720 | 78 | 8200 680 | 85 | 6400
7500 | 800 | 65 5600 | 620 | 85 | 6800 | 600 | 70 7100
7400 | 560 | 70 | 4800 | 400 | 48 6500 | 525 | 65 | 5200

8800 | 920 | 86 | 7000 | 650 | 70 | 7800 720
7200 | 850 | 75 | 8500 | 950 | 80 5700 | 485 | 60 4500 —T3

8000 | 870 | 80 | 9000 | 920 | 75 | 6000 | 490 R
; 620/
8500 1900 1 88 | 8000 | 900 [ 82 | 6300 | 500 | 62 6000 | 620
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1994 | 8000 | 850
.. | 1995 | 4800 | 500
11996 | 7500 | 640
1997 | 9500 | 850
1998 | 9000 | 800
11999 | 9200 | 780
2000 | 8800. | 750
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E{é@ ﬁwwﬁaﬁ 1994 & 2000 % T uie Tl R, R ww (R,

)
994 | 8000 | 850 | 94 | 7800 | 810 | 82 | 7500 | 720 | 78 | 8200 | 680
‘7995 | 4800 | 500 | 48 | 7500 | 800 65 | 5600 | 620 | 85| 6800 | 500 | 70 | 7100 | 650 | 75

(1996 | 7500 | 640 | 82 | 7400 [ 560 | 70 | 4800 | 400 [ 48 | 6500 | 525 | 65 | 5200 | 350 | 55
1997 | 9500 | 850 | 90 | 8800 | 920 | 86 | 7000 | 650 | 70 7800 | 720 | 84 | 6400 | 540 | 60
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80 | 85 | 6400 | 700 | 75

1998 | 9000 | 800 | 70 7200 | 850 | 75 | 8500 | 950 80‘570&, 485 | 60 | 4500 [ 600 | 75

—_,_,—

2000. kel

1999 | 9200 | 780 | 75 | 8000 870 | 80 | 9000 | 920 | 75 _‘_‘3000 490 | 65 | 5500 | 650 | 80

8800 | 750 | 72 | 8500 | 900 | 88 | 8000 | 200 | 82 | 5300 500 | 62 | 6000 | 620 | 78

- (a). .For which State the average number of candidates selected over the years is

maximum ?
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~ over the candidates appeared from that State ?

(@

r;:,_ . total candidates appeared from that State during the years under consnderatlon ? 6

(e)

For which year the percentage of candidates qualified from Haryana over the

“ candidates appeared from Haryana is highest 7
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Inthe year 1989, which State had the lowest percentage of candidates selected

a9 1999 T ﬁmwﬁwﬁaeuﬁaaﬁmwm%wﬁawﬂmmm
?{-mtr%?

For which State the ratio of candidete's sel'ected and the candidates qualified is
highest for the year 1997 ?

ﬁmm%%ﬁaﬁwgﬁwﬁamﬂmaﬂtaﬁmmwﬂmﬂm'
&fﬁm%? | o

Which state has the. highest percentage of total cand|dates selected over the
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ﬁ (f) Find the ratio of the total candidates selected, qualified and appeared fromyp
during the year 1994 to 2000. ‘ :
€ 1994 @ 2000 % BWH 3.3, | Fo =, e Wed T WMot Infigemy
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The bar diagram given below shows the production (in tons) of three crops — paddy,
wheat and maize during the year 2002 to 2005 in a country. Study the diagram
carefully and answer the questions given below it :
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(i Whét is the ratio of total production of paddy, wheat and maize in the country
during the year 2002 to 2005 ?
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the total production of maize is what percentége of the total production of the

( hree crops during the years under consideration ? 6
_Waﬁ%amwwgawm, o el % ot Seare B e
? =
» average production of wheat is what percentage of the average production
6 o paddy during the years under consideration ? 8

il T 2 SR TS 1 SN Seed, U % i geare 1 R TR
What percentage of the production of maize should be increasad or decreased,

sothat the total production of maize is exactly half of the tota! production of paddy
in the country during 2002 — 2005 ? | 8

mwm 3T wem S 5 3§ 2002 — 2005 %
T 1 $ SATGH, U o Fol TG T Sieh 19T B ST 2

,ﬁ the year 2004, the production of wheat is increased by 50% and the
production of paddy is decreased by 40%, then the production of paddy will be
what percentage of the production of wheat ? 8

afe o 2004 # NE HT IACEH 50% &g Il & TAT U T I 40% HT &
TR, T T STGH, g o6 Icq1ET 1 fShaq wfsra g ¢

The following pie-charts represent the expenditure (in rupees) of two families A and
B. Study the charts carefully and answer the questions given below them :

Food / Food

136°

60°1S == | Clothing 64°
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Tote) gy 1Y A | " Family B
%% M.20 Pendiure : Rs. 30,000) (;Iiétal Expenditur)t; : Rs. 45,000)
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(a) What is the total axpenditure of the two families (in rupeés) on food ?

ST aREmt o e § Fa = (T §) feam R ¢

Me'totai expenditure of the two familiés on fuel is what percent of the tota

expenditure of the two families on clothing ?
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{/H the expenditure of the two families on food and house rent is increased bY

- 20% and 30% respectively, then what will be the percentage mcrease inthe ot
expendlture of the two families combined ? o
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ﬁ . The expenditure on clothing for the two families is increased by 15%. What
d |
(' percentage of expen

fam"ies.separately, so that their total expenditure remains the same ? 8
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If the_expenditure of the two families 0

diture on miscellaneous should be decreased by the two

o n fon, clothing and house rent s increased

by 10%, 20% and 30% respectively, then findvthe ratio of their total expenditures

~ on food, clothing and house rent. .
Hﬁﬁmwm,mﬁmmﬁﬁﬁiaﬁmﬁm: 10%,
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The followihg graph shows the exports from three co.mpaniesf.__X, Y‘a'nd Z (in Rs.

trores) during the year 1993 to 1999. Sf;uc;!y the graph carefullyﬁand_,ar_(\syver the

westions given below it :
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(a) Which company had the steepest rise in its exports compared to the previous

‘ Year'énd in which year ?

P ol o et 3 o o % e, e 3 g v e i 7

(b) Which company had the highest percentage increase in its exports in the year

. ~1999 as coinpared to the year 1993 and what was this percent ?

o Frat § o 1993 < gor # o 1999 F Frata # srfresan whvew 3fe &
31K 78 foram wfewra oft ?
If in the year 2000, the exports of the three companies X, Y and Z are increased

by 10%, 20% and 30% respectively as compared to their exports in the previous

year, then what will be the ratio of their exports in the year 2000 ?

Ife a§ 2000 F T FAT X, Y qur Z %ﬁahﬁﬁ@éaﬁﬁﬁahﬁ@;;
U 10%, ZO%HﬂTSO%ﬁQﬁQ‘@?ﬁ%, ¥ 2000 3 I grI B ™

<1 ST G 7




P —————

‘ Wt 0 ercent.age of e>fport should be increased by the companies X and Y in the
! 1996, so that their export becomes double of the export done by company
ro06% TP XTI YT 3T e = et e s e s e
W 1996 # FFH Z TR T e et w1 @ @ 9w 7

o 1992, the export by the company Z was 30% less than thatin 1993 and the export
e compaﬁ¥ X was 30% more than that in 1993, then what was the difference
inRs: crores) between the exports by the companies Z and X in the year 1992 7 8
% 1002 Pl Z 1 AT 1993 % Fraf & 30% ot 7o FEA X
ﬁqﬁ1993%ﬁ?lhﬁ 30% 3T o1, d a¥ 1992 & wrrt Zwd X % fria §
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